

HERMITE HADAMARD INEQUALITY FOR ρ -CONVEX FUNCTIONS IN THE SECOND SENSE FOR FUZZY INTEGRALS

M. A. Latif¹, Wajeeha Irshad^{2*}

¹School of Computational and Applied Mathematics, University of Witwatersrand, Private Bagge 3, Wits 2050, Johannesburg, South Africa.

²Department of Mathematics, University of Engineering and Technology, Lahore, Pakistan.

*Corresponding Author: Wajeeha Irshad, wchattha@hotmail.com

ABSTRACT: In this paper, we prove a Hermite–Hadamard type inequality for ρ -convex functions in the second sense for fuzzy integrals. Some examples are given to manifest the results.

Keywords: ρ -Hermite{Hadamard inequality, Sugeno integral, ρ -convex function.

INTRODUCTION

In 1974, Sugeno [16] inaugurated the thought of fuzzy measures and fuzzy integral as a gadget for modeling non-deterministic dilemmas. The theory of fuzzy integrals attracted the attention of many mathematicians and therefore the equities and utilizations of the Sugeno integral have been deliberated by bountiful authors. Ralescu and Adams [11] gave considerably commensurate interpretations of fuzzy integrals, Román-Flores et al. [12, 13] studied the level-continuity of fuzzy integrals and H-continuity of fuzzy measures and Wang and Klir [18] has given a generic analysis on fuzzy measurement and fuzzy integration theory. Freshly, Román-Flores et al. [14, 15] and Flores-Franulič et al. [6] presented some fuzzy integral inequalities.

In this paper we substantiate a Hermite-Hadamard type inequality for the Sugeno integral for functions which are ρ -convex in the second sense.

For a seek to progress our results we first give some elemental characters and properties about Sugeno integral. For elaboration on Sugeno integral we invoke the readers to [16, 18].

Suppose that Σ is σ -algebra of subsets of \mathbb{R} and that $\phi: \Sigma \rightarrow [0, \infty)$, is non-negative, extended real valued set function, then η aforesaid to be fuzzy measure contingent upon:

1. $\eta(\emptyset) = 0$,
2. $C, G \in \Sigma$ and $C \subset G$ imply that $\eta(C) \leq \eta(G)$ (monotonicity),
3. $\{C_r\} \subset \Sigma, C_1 \subset C_2 \subset \dots$, imply $\lim_{r \rightarrow \infty} \eta(C_r) = \eta(\bigcup_{r=1}^{\infty} C_r)$ (continuity from below) and
4. $\{C_r\} \subset \Sigma, C_1 \supset C_2 \supset \dots, \eta(C_1) < \infty$, imply $\lim_{r \rightarrow \infty} \eta(C_r) = \eta(\bigcap_{r=1}^{\infty} C_r)$ (continuity from above).

If s is a non-negative real-valued function defined on \mathbb{R} , we will denote by $L_{\zeta} s = \{x \in \mathbb{R}: s(x) \geq \zeta\} = \{s \geq \zeta\}$ the ζ -level of s , for $\zeta > 0$ and $L_0 s = \{x \in \mathbb{R}: s(x) \geq 0\} = \text{supps}$ is the support of s . Observe that if $\zeta \leq \beta$, then $\{s \leq \zeta\} \subset \{s \leq \beta\}$. If μ is fuzzy measure on (\mathbb{R}, Σ) , by $\mathcal{G}^{\mu}(\mathbb{R})$, we denote all η -measurable functions from \mathbb{R} to $[0, \infty)$.

Suppose that η is a fuzzy measure on (\mathbb{R}, Σ) . If $s \in \mathcal{G}^{\mu}(\mathbb{R})$ and $A \subset \Sigma$ then the Sugeno integral (or fuzzy integral) of s on A with respect to the fuzzy measure μ is defined as

$$\int_A s d\eta = \vee_{\zeta \geq 0} [\zeta \wedge \eta(A \cap \{s \geq \zeta\})],$$

where \vee and \wedge denote the operations sup and inf on $[0, \infty)$, respectively. The following properties of the Sugeno

integral are well known and can be found in [18].

Proposition 1 η is a fuzzy measure on (\mathbb{R}, Σ) , $A \subset \Sigma$ and $s, t \in \mathcal{G}^{\eta}(\mathbb{R})$ then

1. $\int_A s d\eta \leq \eta(A)$.
2. $\int_A k d\eta = k \wedge \eta(A)$.
3. If $s \leq t$ on A then $\int_A s d\eta \leq \int_A t d\eta$.
4. $\eta(A \cap \{s \geq \zeta\}) \geq \alpha \Rightarrow \int_A s d\eta \geq \zeta$.
5. $\eta(A \cap \{s \geq \zeta\}) \leq \alpha \Rightarrow \int_A s d\eta \leq \zeta$.
6. $\int_A s d\eta < \alpha \Leftrightarrow$ there exists $\gamma < \zeta$ such that $\eta(A \cap \{s \geq \gamma\}) < \zeta$.
7. $\int_A s d\eta > \alpha \Leftrightarrow$ there exists $\gamma > \zeta$ such that $\eta(A \cap \{s \geq \gamma\}) > \zeta$.

Remark 1 Consider the distribution function G associated to s on A , that is, $G(\zeta) = \eta(A \cap \{s \geq \zeta\})$. Then from (4) and (5) of Proposition 1, we have that

$$G(\zeta) = \zeta \Rightarrow \int_A s d\eta = \zeta.$$

Therefore it follows that any fuzzy integral can be calculated by solving the equation $G(\zeta) = \zeta$.

2 ρ -Hermite-Hadamard Inequality Considering Fuzzy Integrals

In [4], J. Caballero, K. Sadarangani has proven with the help of certain examples that the classical Hermite–Hadamard inequalities (see [7, 8] for the history of these inequalities):

$$s\left(\frac{d+e}{2}\right) \leq \frac{1}{e-d} \int_d^e s(x) dx \leq \frac{s(d)+s(e)}{2}, \tag{1}$$

where $s: [d, e] \rightarrow \mathbb{R}$ is a convex function, do not hold true for fuzzy integrals in general. In [4], the authors proved some Hermite-Hadamard type inequalities for fuzzy integrals and some examples were also given to illustrate their results.

In this section we aim to prove some Hermite-Hadamard type inequalities for functions which are ρ -convex in the second sense for fuzzy integrals.

In literature [2], a function $s: [0, \infty) \rightarrow [0, \infty)$ is an ρ -convex in the second sense, or that s belongs to the class K_{ρ}^2 , if

$$s(\zeta x + (1 - \zeta)y) \leq \zeta^{\rho} s(x) + (1 - \zeta)^{\rho} s(y),$$

holds for all $x, y \in [0, \infty)$, $\zeta \in [0, 1]$, for some fixed $\rho \in (0, 1]$.

In [5], Dragomir and Fitzpatrick proved a variant of Hadamard’s inequalities which hold for s -convex functions in the second sense:

$$2^{\rho-1} s\left(\frac{d+e}{2}\right) \leq \frac{1}{e-d} \int_d^e s(x) dx \leq \frac{s(d)+s(e)}{\rho+1}, \tag{2}$$

where (2) is known in literature as ρ -Hermite-Hadamard inequalities. For more about the properties on ρ -convex functions and ρ -Hermite-Hadamard inequalities we refer the interested readers to [1, 2, 3, 5, 9].

Unfortunately, as we will see, the ρ -Hermite-Hadamard inequalities do not valid as well for fuzzy integrals in general. We quote below a very important example of s -convex functions from [5] to be used in the sequel:

Let $\rho \in (0,1)$ and $d, e, c \in \mathbb{R}$. We define a function $s: [0, \infty) \rightarrow \mathbb{R}$, by

$$s(n) = \begin{cases} d & n = 0, \\ en^\rho + c & n > 0. \end{cases}$$

If $e \geq 0$ and $0 \leq c \leq e$, then $s \in K_\rho^2$. Hence, for $d = c = 0$, $e = 1$, we have $s: [0, e^*] \rightarrow [0, e^*]$, $s(n) = n^\rho$, $0 < \rho < 1$, $s \in K_\rho^2$, $e^* > 0$ (see e.g.[5]).

Example 1 Consider $X = [0,1]$ and let η be the usual Lebesgue measure on X . If we take the function $s(x) = \sqrt{x}$, $x \in [0,1]$, then $s \in K_\rho^2$. Now we calculate the the Sugeno

integral $\int_0^1 \sqrt{x}d\eta$ by using Remark 1. Consider the distribution function G associated to s on $[0,1]$, that is $G(\zeta) = \eta([0,1] \cap \{s \geq \zeta\}) = \eta([0,1] \cap \{\sqrt{x} \geq \zeta\}) = \eta([0,1] \cap \{x \geq \zeta^2\}) = 1 - \zeta^2$

and we solve the equation $1 - \zeta^2 = \zeta$, we obtain that $\zeta = \frac{-1+\sqrt{5}}{2}$. By Remark 1 we have

$$\int_0^1 \sqrt{x}d\eta = \frac{-1+\sqrt{5}}{2} \approx 0.618033$$

on the other hand for $\rho = \frac{7}{8}$, we have

$$2^{\frac{-1}{8}} s\left(\frac{1}{2}\right) = 2^{\frac{-1}{8}} \times \frac{1}{\sqrt{2}} \approx 0.64842.$$

This shows that the left part of the ρ -Hermite-Hadamard inequality is not valid in the fuzzy context in general.

Example 2 Consider $X = [0,1]$ and let η be the usual Lebesgue measure on X . If we take the function $s(x) = \frac{\sqrt{x}}{3}$, then $s \in K_\rho^2$. Now again we calculate the the Sugeno integral

$\int_0^1 \frac{\sqrt{x}}{3}d\eta$ by using Remark 1. Consider the distribution function G associated to s on $[0,1]$, that is

$$G(\zeta) = \eta([0,1] \cap \{s \geq \zeta\}) = \eta([0,1] \cap \{\sqrt{x}/3 \geq \zeta\}) = \eta([0,1] \cap \{x \geq 9\zeta^2\}) = 1 - 9\zeta^2$$

and we solve the equation $1 - 9\zeta^2 = \zeta$, we obtain that $\zeta = \frac{-1+\sqrt{37}}{18}$. By Remark 1 we have

$$\int_0^1 \frac{\sqrt{x}}{2}d\eta = \frac{-1+\sqrt{37}}{18} \approx 0.2823756,$$

but on the other hand for $\rho = \frac{1}{2}$, we have

$$\frac{2[s(1)+s(0)]}{3} = \frac{2}{9} \approx 0.22222222.$$

Thus the right side of the ρ -Hermite-Hadamard inequality is not satisfied for fuzzy integrals. Now we present ρ -Hermite-Hadamard inequalities for the Sugeno integral.

Lemma 1 Let $0 < p \leq 1$ and $x \geq 0, y \geq 0$. Then

$$(x + y)^p \leq x^p + y^p.$$

Proof. When $p = 1$, then the result is obviously true. So assume that $0 < p < 1$ and consider the function

$$s(n) = 1 + n^p - (1 + n)^p, n \geq 0.$$

Then $s'(n) = pn^{p-1} - p(1 + n)^{p-1}, n \geq 0$.

Since $p - 1 < 0$, hence $s'(n) \geq 0, n \geq 0$. Thus

$$s(n) \geq 0, n \geq 0.$$

That is $(1 + n)^p \leq n^p + 1, n \geq 0$. (3)

If $y = 0$ then $(x + y)^p \leq x^p + y^p$ is true with equality

sign, so let $y > 0$ and take $n = \frac{x}{y}$ in (2.3), we have

$$(1 + y)^p \leq \left(\frac{x}{y}\right)^p + 1, y > 0$$

so that $(x + y)^p \leq x^p + y^p$.

This completes the proof.

Theorem 1 $g: [0,1] \rightarrow (0, \infty]$ be an ρ -convex function in the second sense $\rho \in (0,1)$ and μ the Lebesgue measure on \mathbb{R} . Then

$$\int_0^1 t d\eta \leq \min\{1, \zeta_1\},$$

where ζ_1 is a positive real solution of the equation $1 -$

$$\left(\frac{\zeta-t(0)}{t(0)+t(1)}\right)^\rho = \zeta.$$

Proof. Since t is an ρ -convex function in the second sense $\rho \in (0,1)$, therefore for $x \in [0,1]$ we have

$$t(x) = t((1-x)0 + 1 \cdot x) \leq (1-x)^\rho t(0) + x^\rho t(1) \quad (4)$$

We observe that $1 - x \geq 0$, therefore we have that

$$1 - x = |1 - x| \leq 1 + x.$$

and hence by Lemma1, we have $(1 - x)^\rho \leq (1 + x)^\rho \leq 1 + x^\rho$.

Thus (2.4) becomes $t(x) \leq (1 + x^\rho)t(0) + x^\rho t(1) = h(x)$. By (3) of Proposition 1, we have that

$$\int_0^1 t d\eta \leq \int_0^1 ((1 + x^\rho)t(0) + x^\rho t(1))d\eta = \int_0^1 h(x)d\eta. \quad (5)$$

In order to calculate the integral in the right-hand part of the last inequality, we consider the distribution function G given by

$$G(\zeta) = \eta([0,1] \cap \{h \geq \zeta\}) = \eta([0,1] \cap \{(1 + x^\rho)t(0) + x^\rho t(1) \geq \zeta\}). \quad (6)$$

Thus from (6) we get that

$$G(\zeta) = \eta([0,1] \cap \{h \geq \zeta\}) = \eta\left([0,1] \cap \left\{x \geq \left(\frac{\zeta-t(0)}{t(0)+t(1)}\right)^\rho\right\}\right) = 1 - \left(\frac{\zeta-t(0)}{t(0)+t(1)}\right)^\rho.$$

Therefore we have $1 - \left(\frac{\zeta-t(0)}{t(0)+t(1)}\right)^\rho = \zeta \quad (7)$

From (1) of Proposition 1 we get that

$$\int_0^1 h(x)d\eta \leq \eta([0,1]) = 1 \quad (8)$$

By Remark 1, (5) and (2.8), we have $\int_0^1 t d\eta \leq \min\{1, \zeta_1\}$, where ζ_1 is a positive real solution of (7). This completes the proof of the theorem.

Corollary 1 $g: [0,1] \rightarrow (0, \infty]$ be an ρ -convex function in the second sense $\rho \in (0,1)$ and η the Lebesgue measure on \mathbb{R} .

If $t(0) = t(1) \neq 0$, then

$$\int_0^1 t d\eta \leq \min\{1, \zeta_1\},$$

where ζ_1 is a positive solution of the equation

$$1 - \left(\frac{\zeta-t(0)}{2t(0)}\right)^\rho = \zeta.$$

Proof. It is direct consequence of the above theorem. Now we give examples to illustrate our result:

Example 3 Consider the function $s(x) = x^{\frac{1}{3}}$ on $[0,1]$, then s is an ρ -convex function. Moreover $s(0) = 0$ and $s(1) = 1$, thus in particular for $\rho = \frac{1}{3}$ we have from the equation

$$1 - \left(\frac{\zeta-s(0)}{s(0)+s(1)}\right)^\rho = \zeta, \rho \in (0,1), \text{ which gives by solving by}$$

numerical methods, the positive real solution

$$\alpha_1 = \sqrt[3]{\frac{1}{108}\sqrt{31}\sqrt{108} + \frac{1}{2}} - \frac{1}{3\sqrt[3]{\frac{1}{108}\sqrt{31}\sqrt{108} + \frac{1}{2}}} \approx 0.682\ 33.$$

Therefore from Theorem 1 we have

$$\int_0^1 s d\eta \leq \sqrt[3]{\frac{1}{108}\sqrt{31}\sqrt{108} + \frac{1}{2}} - \frac{1}{3\sqrt[3]{\frac{1}{108}\sqrt{31}\sqrt{108} + \frac{1}{2}}}$$

Note that one can choose other values of $\rho \in (0,1)$ to get another estimates for the integral $\int_0^1 x^{\frac{1}{3}} d\eta$.

Example 4 Consider the function $s(x) = x^{\frac{3}{4}}$ on $[0,1]$, then s is an ρ -convex function. Moreover $s(0) = 0$ and $s(1) = 1$, thus in particular for $\rho = \frac{3}{4}$ we have from the equation

$$1 - \left(\frac{\zeta - s(0)}{s(0) + s(1)}\right)^{\frac{4}{3}} = \zeta, \text{ which gives by solving by numerical}$$

methods, the positive real solution $\zeta_1 \approx 0.549\ 7$. Therefore from Theorem 1 we have

$$\int_0^1 s d\eta \leq 0.549\ 7.$$

Note that one can choose other values of $\rho \in (0,1)$ to get another estimates for the integral $\int_0^1 x^{\frac{3}{4}} d\eta$.

Now we prove general case of Theorem 1 as follow:

Theorem 2 $t: [d, e] \rightarrow (0, \infty)$ be an ρ -convex function in the second sense $s \in (0,1)$, $0 \leq d < e < \infty$ and η the Lebesgue measure on \mathbb{R} , then

$$\int_d^e t d\eta \leq \min\{e - d, \zeta_1\},$$

where ζ_1 is a positive real solution of the equation

$$(e - d) \left[1 - \left(\frac{\zeta - t(d)}{t(d) + t(e)}\right)^{\frac{1}{\rho}} \right] = \zeta.$$

Proof. Since t is an ρ -convex function in the second sense $\rho \in (0,1)$, therefore for $x \in [d, e]$ we have

$$\begin{aligned} t(x) &= t\left(\left(1 - \frac{x-d}{e-d}\right)d + \frac{x-d}{e-d} \cdot e\right) \\ &\leq \left(1 - \frac{x-d}{e-d}\right)^{\rho} t(d) + \left(\frac{x-d}{e-d}\right)^{\rho} t(e) \end{aligned} \quad (9)$$

Arguing similarly as in Theorem 1, we have that

$$1 - \frac{x-d}{e-d} = \left| 1 - \frac{x-e}{d-e} \right| \leq 1 + \left| \frac{x-d}{e-d} \right| = 1 + \frac{x-d}{e-d}$$

and hence by Lemma1, we have

$$\left(1 - \frac{x-d}{e-d}\right)^{\rho} \leq \left(1 + \frac{x-d}{e-d}\right)^{\rho} \leq 1 + \left(\frac{x-d}{e-d}\right)^{\rho}.$$

Therefore (9) gives

$$t(x) \leq \left(1 + \left(\frac{x-d}{e-d}\right)^{\rho}\right) t(d) + \left(\frac{x-d}{e-d}\right)^{\rho} t(e) = h(x)$$

By (3) of Proposition 1, we have

$$\begin{aligned} \int_d^e t d\eta &\leq \int_d^e \left[\left(1 + \left(\frac{x-d}{e-d}\right)^{\rho}\right) t(d) + \left(\frac{x-d}{e-d}\right)^{\rho} t(e) \right] d\eta = \\ &\int_d^e h d\eta \end{aligned} \quad (10)$$

Let us consider the distribution function G associated to h on $[d, e]$ given by

$$\begin{aligned} G(\zeta) &= \eta([d, e] \cap \{h \geq \zeta\}) \\ &= \eta\left([d, e] \cap \left\{ \left(1 + \left(\frac{x-d}{e-d}\right)^{\rho}\right) t(d) + \left(\frac{x-d}{e-d}\right)^{\rho} t(e) \geq \zeta \right\}\right) \\ &= \eta\left([d, e] \cap \left\{ x \geq d + (e-d) \left(\frac{\zeta - t(d)}{t(d) + t(e)}\right)^{\frac{1}{\rho}} \right\}\right) \end{aligned}$$

$$= (e - d) \left[1 - \left(\frac{\zeta - t(d)}{t(d) + t(e)}\right)^{\frac{1}{\rho}} \right]. \quad (11)$$

Therefore from (11), we have the equation

$$(e - d) \left[1 - \left(\frac{\zeta - t(d)}{t(d) + t(e)}\right)^{\frac{1}{\rho}} \right] = \zeta. \quad (12)$$

By (1) of Proposition 1 we get that

$$\int_d^e h(x) d\eta \leq \eta([d, e]) = e - d. \quad (13)$$

Thus by Remark 1, (10) and (13), we have

$$\int_d^e t d\eta \leq \min\{e - d, \zeta_1\},$$

where ζ_1 is a positive real solution of (13).

Corollary 2 $t: [d, e] \rightarrow (0, \infty)$ be an ρ -convex function in the second sense $\rho \in (0,1)$, $0 \leq d < e < \infty$ and η the Lebesgue measure on \mathbb{R} . If $t(d) = t(e) \neq 0$, then

$$\int_0^1 t d\eta \leq \min\{e - d, \zeta_1\},$$

where ζ_1 is a positive solution of the equation

$$(e - d) \left[1 - \left(\frac{\zeta - t(d)}{2t(d)}\right)^{\frac{1}{\rho}} \right] = \zeta.$$

Proof. It is direct consequence of the above theorem.

Example 5 Let $s(x) = 2x^{\frac{1}{3}}$ be a function defined on $[0,2]$, then s is an ρ -convex function in the second sense. Here we have $d = 0$, $e = 2$, moreover $s(d) = s(0) = 0$ and

$s(e) = s(2) = 2^{\frac{4}{3}}$, therefore by Theorem 2, we solve the

equation $(e - d) \left[1 - \left(\frac{\zeta - t(d)}{t(d) + t(e)}\right)^{\frac{1}{\rho}} \right] = \zeta$, that is in particular

for $\rho = \frac{1}{3}$, we solve the equation $2 \left[1 - \frac{\zeta^3}{16} \right] = \zeta$, we get that

$$\begin{aligned} \zeta_1 &= \sqrt[3]{\frac{1}{27}\sqrt{27}\sqrt{2240} + 8} - \frac{8}{3\sqrt[3]{\frac{1}{27}\sqrt{27}\sqrt{2240} + 8}} \\ &\approx 1.541\ 8. \end{aligned}$$

Hence we get the following estimate:

$$\begin{aligned} \int_0^2 s d\eta &\leq \min \left\{ 2, \sqrt[3]{\frac{1}{27}\sqrt{27}\sqrt{2240} + 8} - \frac{8}{3\sqrt[3]{\frac{1}{27}\sqrt{27}\sqrt{2240} + 8}} \right\} \\ &= \sqrt[3]{\frac{1}{27}\sqrt{27}\sqrt{2240} + 8} - \frac{8}{3\sqrt[3]{\frac{1}{27}\sqrt{27}\sqrt{2240} + 8}}. \end{aligned}$$

Example 6 Let $s(x) = 2x^{\frac{1}{\sqrt{3}}}$ be a function defined on $[0,4]$, then s is an ρ -convex function in the second sense. Here we have $d = 0$, $e = 4$, moreover $s(d) = s(0) = 0$ and

$s(e) = f(4) = 2 \cdot 4^{\frac{1}{\sqrt{3}}}$, therefore by Theorem 2, we solve the

equation $(e - d) \left[1 - \left(\frac{\zeta - t(d)}{t(d) + t(e)}\right)^{\frac{1}{\rho}} \right] = \zeta$, that is in particular

for $\rho = \frac{1}{\sqrt{3}}$, we solve the equation $4 \left[1 - \left(\frac{\zeta}{2 \cdot 4^{\frac{1}{\sqrt{3}}}}\right)^{\sqrt{3}} \right] = \zeta$, we

get that $\zeta \approx 2.5139$. Hence we get the following estimate:

$$\int_0^2 s d\eta \leq \min\{4, 2.5139\} = 2.5139.$$

Remark 2 In the last two examples one can get different estimates for the integrals for different choices of $\rho \in (0,1)$.

CONCLUSION

Hermite–Hadamard type inequality for ρ -convex functions in the second sense for fuzzy integrals is established, and our results are evident by examples .

REFERENCES

- [1] M. Alomari, M. Darus, S.S. Dragomir and U.S. Kirmaci, On fractional differentiable s -convex functions, *Jordan J. Math. Stat.*, (JJMS), **3** (1) (2010), 33–42.
- [2] W. W. Breckner, Stetigkeitsaussagen für eine Klasse verallgemeinerter konvexer Funktionen in topologischen linearen Räumen, *Publ. Inst. Math. (Beograd)* **23** (1978), 13–20.
- [3] W. W. Breckner and G. Orban, *Continuity properties of rationally s -convex mappings with values in ordered topological linear space*, “ Babes-Bolyai” University, Kolozsvár, 1978.
- [4] J. Caballero, K. Sadarangani, Hermite–Hadamard inequality for fuzzy integrals, *Appl. Math. & Comp.* **215** (2009) 2134-2138.
- [5] S.S. Dragomir and S. Fitzpatrick, The Hadamard’s inequality for s -convex functions in the second sense, *Demonstratio Math.*, **32** (4) (1999), 687-696.
- [6] A. Flores-Franulič, H. Román-Flores, A Chebyshev type inequality for fuzzy integrals, *Appl. Math. Comput.* **190** (2007) 1178-1184.
- [7] J. Hadamard, Étude sur les propriétés des fonctions entières et en particulier d’une fonction considérée par Riemann, *J. Math. Pure. Appl.* **58** (1893) 175-215.
- [8] Ch. Hermite, Sur deux limites d’une intégrale définie, *Mathesis* **3** (1883) 82.
- [9] H. Hudzik and L. Maligranda, Some remarks on s -convex functions, *Aequationes Math.*, **48** (1994), 100-111.
- [10] M. Mastic’ , J. Pečarić’ , On inequalities of Hadamard’s type for lipschitzian mappings, *Tamkang J. Math.* **32** (2001) 127-130.
- [11] D. Ralescu, G. Adams, The fuzzy integral, *J. Math. Anal. Appl.* **75** (1980) 562-570.
- [12] H. Román-Flores, A. Flores-Franulič, R. Bassanezi, M. Rojas-Medar, On the level-continuity of fuzzy integrals, *Fuzzy Set. Syst.* **80** (1996) 339-344.
- [13] H. Román-Flores, Y. Chalco-Cano, H-Continuity of fuzzy measures and set defuzzification, *Fuzzy Set. Syst.* **157** (2006) 230–242.
- [14] H. Román-Flores, A- Flores- Franulič, Y. Chalco-Cano, The fuzzy integral for monotone functions, *Appl. Math. Comput.* **185** (2007) 492-498.
- [15] H. Román-Flores, A. Flores-Franulič, Y. Chalco-Cano, A convolution type inequality for fuzzy integrals, *Appl. Math. & Comput.* **195** (2008) 94-99.
- [16] M. Sugeno, *Theory of fuzzy integrals and its applications*, Ph.D. Thesis, Tokyo Institute of Technology, 1974.
- [17] J. Tabor, J. Tabor, Characterization of convex functions, *Stud. Math.* **192** (2009) 29-37.
- [18] Z. Wang, G. Klir, *Fuzzy Measure Theory*, Plenum, New York, 1992.